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{a)What do you m €an by engineering econamics 7

Ans. Engineering €conomics Is a par of miero econgmics which gtudies abom syt 4%
project selection, eacislon making & cost minlmlzation process of production e, 14 4174 YRoe,
problem of the ecanamy, It also Includes replacement, hreak even analysts in piradicting

(b)Who defined ecconomics as a science of wealth?

Ans:- Adam Smith

(c)Who Is regarde o as the father of economics?

Ans. Adam Smith
{d)Dafine Micro e conomics,

Ans. Microeconomies (from Greak prefix mikio- meaning "smiall” snd eoonomins) 1t i
branch of aconomics that studies the behavior of individuals and small unpactigg

ror '!!f,._».‘

players in making decislons on the allocation of limited resources, Typicslly, it apoies

to markats whore goods or services are bought and sold, Microsconomics s/aiines,

how these decislons and behaviors affect the supply and demand for goots 104

servicas, which determines prices, and how prices, In turn, determine 106 quantty
supplied and quantity demanded of goods and services

(¢)Define Macro Economics?

Ans. Macroeconomics (from the Greek prefix makro- meaning "large” and econormics
is a branch of economics dealing with the performance, struclure, benasvior, anc
decision-making of an economy as a whole, rather than individual marvets, The
includes national, regional, and global economics, Macroeconomists study aggregatec
indicators such as GDP, unemployment rates, and price indices to understand how the
whole economy functions. Macroeconomists develop models that esplain the
refationship between such factors ac natiorzl
income, outpul,consumption, unempioyment, inflation, savings, investment, intermationz)
trade and international finance

(HDistinguish between micro economics & macro economics,

Ans.
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indiv mic units
' Micro Heanormics studies the problems of individual ecana _

industry, a consumer et

. : 1

: ati my viz,, Nationa
o B s studies sconomic problems relating to an gconomy ViZ.,

Muero Beonomies studies e |

Ineome, Total Savings ete,

finin) ination, re llocation ete.
Mioro Beonomie studies the problems of price determination, resource a

=

¢ : : ' income
Macro Beonomies studies the problems of economic grow th, employment and

determination ete,

: e Re fhe ASS s th: ings .In
1 While formulating economie theories, Micro Economics assumes that other thing ‘
' N 4 calatad 1 2] ' remain
Micto Beonomics economie variables are mutually inter-related independently rem

conatant
4. The main determinant of Micro Economics is price.
I Micro Economies economic variables are mutually inter-related independently.

(@)State the scope of engineering economics.

Ans It deals with various subject matters like demand & supply analysis, productiors,
= .

market .estribution time value of money project evaluation, decision making,

dopraciation, break-aven analysis etc.

(nWhat do you mean by demand?

Ans it means the desire of a thing backed by willing & ability toQ purchase it. In other
words, demand may defined as the quantity of a commodity purchased by a consumsr
at a cartain price.

(i\What is derived demand?

Ans. Derived demand is a term in economics, where demand for a factor of

production or intermediate good occurs as a result of the demand ior another intermedialz
or final good. In other words, if the demand for a good such as wheat increases, then the
productivity inz:reases. which leads to an increase in labor. This may occur as the formeris
a part of production of the second. For example, demand for coal leads to derived demard
for mining, as coal must be mined for coal to be consumed. As the demand for coal
increasas, so doas its price. The increase in price leads to a higher demand for the
resources involved in mining coal.

uch as a firm, an:.

/ (VAL

Scaﬁhéduby CamScanner



(IWhat [a Joint dles mand 7

, ' it 066 nd for tw
Ans. I aconomies , Joint demand I a kind of demand that occurs when the demancior WGy
of mora producte o services e Interdepandent, normally because they are used together
The demand for razzor bladen may depend upon the number of razors In use; this Is why
razors hava somat Imas boon sold as loss loaders, to Increasa demand for the associated
blados,

(K)What la compogite domand ?

Ang 'i‘lm demand for a commodity or good that provides multiple uses. For
axampte, crude ol 15 demanded as fuel,

tre component and detergent Ingredlent,

(hWhat 1 demanc functions 7

Ans The functioneal rolationship botween demand for a commodity § all factors of
demand is known s demand function,

(mWhat Is cross <lemand?

Ans A claim ma de against someone who has already made a demand of
the porson assoriing (hat claim. These mutual claims are called cross-
demands. A co unterclaim is a kind of cross-demand.

~

(n)State the law o demand?
Ans tho law of domand statos that the quantity demanded and the price of

a commodity are Irversaly related, olver things remaining constant, If the income of the
consumer, prices of the relaled goods, and praferences of the consumer remain
unchanged, then t he change in quantity of good demanded by the consumer will be
negatively correlated to the change in the price of the good.

(0)What is Giffervs paradox.?

Ans. According to the Law of Demand, when the price of a commodity falls the

demand for it ris es. Giffen's Paradox is an exception to this law. It is named after the

19th century British economist, Sir Robert Giffen, who found that when the price of

bread fell, the'demand for it also fell. This was because when the price fell, the real

income of the co ngumer rose and she was in a position to buy better quality/more
bread.

(MWhat is Veblesy effact ?
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ally exist. Howevel it is claimed

00GS,
. s ik r perfumes are Veblen g
thzt some types of high-status goods, such as expensive winés or pe

are
i : & ing them because they
in tha! decreasing their prices decreases people’s preference for buying

" e SRR . i= Simila rice increase may
ns longer perceived as exclusive or high status products. Similarly, 2 p

ually increasing preference. The Veblen

- « ‘s actu
fns. Tre defintion does not require that any Veblen goods @

. g i g g g wedi et + ~*
ncrezee tnzl migh siatus, exciusive perceplion, act

N . 4
ne economist Thorstein Vebien, who invented the concepis of

Ans. In economics, the demand schedule is & table of the quantity
demanded of a good zt different price levels. Thus, given the price level,
it is ezsy to determine the expected quantity demanded. This demand
schedule can be graphed 2s 2 continuous demand curve on & chart
naving the Y-axis representing price and the X-axis representing

guantity.

{rjDistinguish between joint demand & composite demand.

{sWny demand curve slopes down ward ? (2010)

Ans Demand curve is skepe downward because of inverse relationship between price and
guantity

{tjWhat is income effect ?

Ans. Theincome effectis a term used ineconomicsto describe how consumer
spending changes, typically based on price of consumer goods. Given the same income,
consumer habits and quantity of items desired tands to be affectzd by price of those items.
~ person making a given salary tends to have lower purchasing power and may purchase a
smatier quantity when prices are high. When they are lower, purchasing power goes up aid

a person may feel correspondingly “wealthier’ since the same amount of money will byy
more in quantity. -

{u)Define substitutions effect.

Ans. An effect caused by a rise in price that induces a consumer
whose income has remained the same) to buy more of a relatively lower-
priced good and less of a higher-priced one.

Substitution effect is always negative for
the seller: consumers always switch from spending on higher-

S VAU NSt SRRSO SR
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priced goods 10 jower-priced ones as they attempt to maintain their

living standard ir face of rising prices. Substitution effect Is not confined only
to consumer goo ds, but manifests in other areas as well such as demand for
jabor and capital - See also income effect.

(v)What is income €lasticity of demand ?

ans. A measure of the relationship between a change in the quantity
demanded for a particular good and a change in real income. Income
elasticity of demand is an economics term that refers to the sensitivity of
the gquantity desmanded for a certain product in response to a change in
consumer incormes. The formula for calculating income elasticity of
demand is:

Income Elasti city of Demand = % change in quantity demanded /
9 change in income

For example, if the guantity demanded for a good increases for 15% in
response to 2 1 0%increase in income, the income elasticity of demand
would be 15% / 10% = 1.5.The degree to which the quantity
demanded for @ good changes in response to a change in income depends
on whether the good.is a necessity or a3 luxury.

(w/)What is cross elasticity of demand 7

ans. An economic concept that measures the responsiveness in the
quantity demand of one gcod when a change in price takes place in
another good. The measure is calculated by taking the percentage change
in the quantity"demanded of one good, divided by the percentage change
in price of the substitute good:

. P,;"fer"xAGB
“Tofs0u; 4P

Yiheie:

p? =The price of good Aat timeperiod?

pl =Thepiite of good Aat timeperiod2

67 = The quaniisy demandedsf gosd B attime period]
07 = The quantity demandedof good B attime peslod?2
7,07 wThe canngein tie quaniily demandedof good B

£’ = The ehangsinprice of good A

Scanned by Cam‘Scanner _

vl

e Y e




r-."W'lll—.--—-l e s A

. e elasticity of
Cross elasticity of demand Is synonomous to "Cross pric \

demand".

(x)What is Giffen goods ?

Ans In economics and consumer theory, a Giffen good is a product that people consume
more of as the price rises—violating the law of demand. Normally, as .

the price of goodsrises, the substitution effect makes consumers purchase less of it, and
more of substitute goods. In the Giffen goods situation, the inceme effect dominates,
leading people to buy more of the goods, even as its price rises..

(y)What is price elasticity of demand ? (2011)

Ans. A measure of the relationship between a change in the quantity
demanded of a particular good and a change in its price. Price elasticity of
demand is a term in economics often used when discussing price
sensitivity. The formula for calculating price clasticity of demand is:

Price Elasticity of Demand = % Change in Quantity Demanded /
% Change in Price

If a small change in price is accompanied by a large change in quantity
demanded, the product is said to be elastic, Converseiy, a product is
inelastic if a large change in price is accompanied by a small amount of
change in cuantity demanded.

(z)If demand equation is given by D=500-p & the supply equation is
given by S=50-+4p. What would be the price 7 (2012)

| Ans. Equlibrium price means, D=S

Long Questiops:-
1.(a)Explain the concept of elasticity of demand. (2011)

Ans. The concept of elasticity of demand is very important in economic theory
and policy. It is used to measure the effect of changes in price on quantity
demanded. It is known that according to the law of demand, if price decreases
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the demand increases and if price increases the demand falls. The quality of
demand to change with changes in price is called the elasticity of demand.,

By definition, then, the elasticity of demand is the rate at which the quantity
demanded changes in response to a change in price.

Its formula is:
Ed = percentagie change in quantity demanded/percentage change in price.

This rate of change in demand varies according to commodities, market and
consumers. At times a small change in prices has a big effect of demand. This
phenomenon is called elastic demand. This effect is usually seen when
consumers hawve more buying options. There are also situations when a large
change in price has a small effect of demand. This is called inelastic demand
Commodities like basic food items like salt tend to show inelastic demand.

A perfect elasiic demand exisis when demand increase with no change in
price. This is called infinite elasticily. A situation of zero elasticity result when
lowering the price does not increase the demand.

(b)\What ar the factors geverning price elasticity of demand 7 (2011-12-13)

-
1. Price level:

Generally, the demmand {or very costly and very cheap goods is elastic. Very costly goods are
demanded by the rich people and hence their demand is not affected much by changes in
prices. For example, increase in the price of Maruti Car from Rs. 3, 00,000 to Rs. 3, 20,000
will not male any noticeabie difference in its demand. Similarly, the changes in the price of
very cheap geods (such as salt) will not have any effect on their demand, for a very small

part of income is spent on suchcommodities .
2. Availability of Substitutes:

The demand for a commodity will be very elastic if some other commodities - can be used
for it. A small rise in the price of such a commodity will induce consumers to use its
substitutes. For example gas, kerosene oil, coal etc. will be used more as fuel if the price of
waod increases. On the other hand, the demand of such commodities is inelastic which have

ric substitutes such as salt.

3. Time period:
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Longer is the time period more elastic is the demand. In the short pent \

; immediately and hence it would  \,
commodity like petrol is increased, its demand will not fall unmedlaf?i ::xvv b \
be inelastic or less elastic. But if period is longer alternative sources of energ
developed and hence demand would be elastic.

4. Proportion of total expenditure spent on the product:

Ita small proportion of total expenditure is spent on a commodity, its demand will beu
inelastic such as demand for salt. On the other hand, if a major portion of total ex}k:nmd re
IS spent on a co mmadity, its demard will be more or highly elastic such 2s demand for
luxuries,

5. Habits:

Some products which are not essential for some individvals are essential for others. If
individuals are habituated of some commodities the deraand for such commodities will be
usually inelastic, because they will use them even when their pricey gcup. A smoker
generally does not smoke less when the price of cigarette goes un,

6. Nature of the commodities:

Generally, the demand for necessaries is inelastic and that for comlorts and luvuries of li%

elastic. This is so because certain goods which are essential to life will be demanded at any
s \ ., > -4 ; +dY s P s ‘- o3

price, whereas goods meant for luxuries and comforts can be disrensed with eacily Hthey

appear to be costly.
7. Various uses:

Generally, a commodity which has several uses will have an elastis domand such as milk
wood ete. On the other hund, a commaodity having only one use will have melastic demand.

8. Postponement:

Usually the demand for such commodities# whose use can be postponed for some time is
elastic. For example, the demand for V.C.R. is elastic because its use can be Postponed for
some time if its price goes up, but the demand for rice and wheat is inelastic because thair
use cannot be pastponed whan their prices increase.

2. How equilibrium price is determined wnder Periect competition ?

: v“;f"";'""’;'r,_”ﬁ;‘.‘"".-,Z:.:'.":--\I:‘\tr’;.rh“ s S S AU s R WYL Scanned by CamSCanner
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Ans. Price determination is the main problem and a must in economic theory. It is because
every activity measured in terms of money (price) is called economic activity. Similarly, a
commodity the value of which can be measured in ‘terms of money (value in exchange) is

called economic good.

Thus, determination of price of a commodity or service is an essential part of the study of
economics. All the branches of economics like consumption, production, exchange and

distribution are affected by the theory of price.

We know that a commodity can command value only when it has utility and scarcity. The
utility aspect represents demand and the scarcity aspegt represents supply.

In any transaction, there are two parties, the buyers and sellers. The price of a commaodity is
determined by mutual agreement between the buyers and sellers. Under perfect
competition price of a commodity is determined by the interaction of demand (buyers) and

supply (sellers).
Pricing of commodities has been the most controversial issue in Economics. There are two

approaches in this regard.

The first approach is propounded by the classical economists like Adam smith, Ricardo, J.S.
Mill and some socialist thinkers like Robert Owen, Marx and Sismondi. According to these

__economists,.the .cost Af production is. the determinant of price. This.view is one side and

subject to criticisms.

The second approach is the Austrian approach, which is advocated by the Austrian
economists like Manger, Wiser, Jevons and Bohme Bawerk. This approach is also known as
the psychological or subjective approach. According to this approach, utility is the sole

"determinant of price. But this approach is also one-sided and subject to criticisms.

Prof Marshall synthesized the two approaches. He pronounced that price is determined by
the interaction of the demand and supply forces. He compared price determination with the
act of cutting with two blades of z pair of scissors. The cutting is done neither by the upper
blade nor by the lower bladc alone. Prof. Marshall remarks, “The price rests like the key
stone of an arch, balanced in equilibrium between the contending pressures of its tao

opposing sides, demand on the one side and supply on the other.”

The consumers will continue the consumption of the commodity until its price equals e
marginal utilitv from the demand side. Similarly, sellers will continue with their sale uztil

the price equals the marginal cost of production.

‘
L
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Equilibrium Price:

\.
The Equilibrium price under perfect competition refers to that price at which the demand

for and supply of the commodity are in equilibrium with each other.

In"the words of Prof. J.L. Hansen, “The equilibrium price is one where quantity demanded
: of a commodity is exactly equal to the quantity supplied.” Prof. D.W. Pearce says,
“Equilibrium price is the price at which market is equilibrivm.”

The wishes of both buyers and sellers are satisfied oxzly at the equilibrium price. Dr.
Marshall says, “When the demand price is equal to the supply price the amount produced
has no tendency either to be increased or decreased, it is equilibrium®”. If prices were greater
than the equilibrium price quantity supplied would exceed quuntity demanded. As a result,
the price will go on declining till the quantity demanded equais quantity supplied. On the
other hand, if prices were lower than the equilibrium pricz quantity demanded would
exceed quantity supplied. Consequently, the price will go on rising till the quentity
demanded and the quantity supplied are aguin equal, We thus see that the price, which will
gettle down, can be elther greater or lees t'ien the equilibrivm prize.
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sticity of demand ? h

A’nh.. Factori Afféctlng PrlcehElasticlty of
Demnnd Price cIastlcity of dcmand dcpcnds upon
a numbeér of' factdrs gomc of lhcm axc discussed
below. :

Natpre of the. commodlty Thc e;ast:city of |
dcmnnrl for nny con‘madn}y dcp:nds uPon the
category to which it bw}rngs, [ ¢ whether It is a.
necessity, comfort. or luxury. xhc ‘demand for
ncc§ssancs of Ixfc or cnn'/cn;ional fiécessaries is
gchcral]yl: c]astlc For cxamplc the demand for
nccessancs lxkc food, salt matches, etc. does not
changé much wnh rise or fall in their prices. ‘Similar
is the case with commoditics whxch are rcquxrcd at

(he titne of marrmgc Jcath ccrcmomcs, ctc

3¢ ArSTIApen e o vt PR

The dcmana for ncccusancs of efficiency
(such as milk cg.gs bu;tcr ere, )and for comforts is

| modcratcly clasuc because with the rise or fall in

thelz prices, the dcmand for thém decreases or
iricreases mod ratcly On thc othcr hand the demand
for luxuries is more elastic bcc;iusc ‘with a small
chang¢'In their prices iHere is @ large changé in their
demand. '

But the dcmnnd for prestige goods, like Jewels.

‘rare coins, rare stafnps pamtlngsb y T agorc or Picaso

ete. is inelastic because mcy possess unique utility
for the buyers 'who nrc p.cpar'u to buy them at all
costs,

Substitutes : Commoditics having substitutes
have morc elastic demand:becausg with the change
in.the, price of one commadity, the demand for its

~ substitute is immediately affected. For,example, if

the, price of coffee rises, the demand for coffee will.
decrease and that for, tea will increase, and vice
versa. But the demand for commodmes havmg no
good substitutes ig inelastic,

- - Varléty of usés :The demand fora commodlty

' hnving comffosite demand or variety of uses'is more

elastic.- Such*commodmcs are coal, milk, steel,

clectricity, ete. For example, coal is used for cooking
and heating, for power gcncratxon ‘in- factoncs in
Igcomotive, etc. If there is a slight fall in'the price of
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coal; its dcmlnd will inal

the other hand, a rise'] Lts.pr'icé wilhﬂdng 8
demand In les imlporzant .

consadcrablp Jecrease in
uses (domcsdc) an In m re lmpor;ant usey, efforts

will also be made to econo jse Its usc, as inra ‘W*\YS:
and factories, thus the ove ‘nll effect will be rcducUon
in demand. A commodity which carinot be put (o

. more than one use, hks lesy elastic demitd.

Joint dimand : There are ccrtnm‘

commodities which are jointly dcmundg;!, such as car
and pctrol pen and ink, bread and Jam ‘et [‘hc
elasticity of demand of the secm;d Lommoduy
depends upon the elasticity of dcman(l of the mzuor
commodity. If the demand for cars is less’ elastic thc
demand for petrol will alsu be less clnsuc On the
other hand, lf the qemand for sa Y bread is ulasuc.
the demand for Jam will lso be efastic.

Deferred consump! !un 1 Commodities whosc
consumption can be deferred have an clasnc dcm?.n.;
This is the case with durab'e consuxpcr goods. like
cloth, blcyclc, fan, eic. lJf the pricc of uny of l.u.s»
articles rise, people will o‘lponc the;r conaumpu
As 2 rcsult their dcmafld will decrease and v;c-
versa. '

Hablts : People who are habituated to the
consumption of a partxc't”ar commodity, like coffec,

tea or cigarette of e particular brand, the demand for

it will be inzlastic. We nnd that the pnces of ceffee,
tea and cigarettes increase almost every ycdr but
there has been little effect oa their demand because

people are in the habit of consuming thezh,

Income groups : The elasticity of danand

also depends on the income group to which s person
belongs. Persords who bc!ong (o the highcr income
group, thair denfand for, commodhws 14 less elaytic,
It is immateriel to a rich man whether the n::cc ofa
commodity hés fallen or]risen, &nd Hence 1 is damand
for the commodity will be unaffected. Oif‘the othe

hand, the dgmand of peryons in lowenjncome groups
is generally.elastic, A rise or fall in the prices of
commodities will redupc or ingrease the; dqmand on
their part. But this does not apply in.the case of
necessities, the demand for which on the part of the
poor is less elastic. :

on g co;nmodfl)’ at @

,,. :.“r,’—--ﬁ) bt S|
.Dv:

proportlon o; mgpﬂ; a”m

nds a sn;a,ll pmppmpn,ol his in
conmg’ w time, the ‘dgmand for

fc becanse he dccs not bo

t
commodipy Is less elas 5uc}r commodities ¢

much about small cxpmdzture.
shoe .polish, pen, pencil, thread, needle-ejo. B

commodities Which entail a large’proportion of t
income of the consumer, the dcmapd of them

elastic, such &s bicycle, watch ete,

- Level of prices ¢ Tne level of prices al
influence the elasticity of demend for commoditi
when the price level is high, the dcmand"fv
commodities is elastic, and when the pncc level
lov, the dzmand §¢ lese ¢lastic.

“"Time factor : Timne factor plays an lmporta
role in influcncing the elesticity of demand fq
commadities. The shorter the time fn which tl
consumer buys & commedity, the lesser will be th
clasticity of demand for that product. On tk
atherhand,-the longer tht time which theepdsume
takes in buying  cominodity, the higher will be tk
clasticity of «.cmun.d f.)r that producl

Brend : The pncc of dentand fora given bran
of .product may be elaztjc. If its price increase:
people turn tovards the other brands zasily. This i
subatitution effect.. For example, if the price of th
Hero bicycle increases, the consumer will buy th

Aftlas bic ycle.

Hecurring demend : Goods which hav
recurring demand, their prices are nioe elastic tha
the goods which are not demanded tine ‘and 4gain

Disteibution of incomé : If 1 country ha
equal distsibution of income snd wealty, “the deman
for majerity of goods is elastic becayse there ar
mbre iniddle class peaple whose purciasing powe
iz almost equal, :

.. Explain the concept of produdion and th
~ law of variable proportions.

Ans, For Ans. Rcfcr Probayle Sectio,
Modulc—l Q. no.-9.

Sz e e 33
F e ek i a6
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straight-line methdd o depreclﬁlon., .
Ans. In ordinary sease, dqprcciatlon means ‘a
decrease in worth, It efers to the hoss of" value of the

physical assets used in pmducuon In qunonﬂc sense, o
the consumption of fixed capital is ¢ ied as dcpreciation ,

Itis annually charged on the value of fixed assets which

are used in production. In accountin sense, deprecmtion :

is the estimated value of fall in the worth of-an asset, The
wear and tear of fixed assets in thg normial production
process is regarded as depreciation. Acmdrn..ﬂ loss of
value of fixed asset js capital iass net the drp-cciation

' According to.I.M. Carter, "Dcp;ecimmn isthe
gradual and pc*mncnt dvcr..uc in the value of 2nasset |

. (,ux)awa)ﬂ-g(l’ s)

from any cause” There are sev cml factors responsible
&7 depreciation such as use of assets, physica!

depreciation, Sunctional, technological problem, sudden

failure, depletion etz. o 2

Depreciction is needed to imozw the free value of

profit and loss. To identify financjal position and to

provide funds for replacement of asset.

I\eeds for depreciation : N

o) Ixisncccs’hrytoasccmlnuu pmﬁtcrmtpmﬁt
: -bf a business:” ¢

‘(ii) 1t.represents true and m;r vigw of .ﬁn:ncml '

. pqsitiop..
_(u}) It assures .hq ,cxact ca 1t of produmon

“(v) Tti is necessary to ccmply leg l.cqmr"mcnts
" (v) Itisneededtd accumulatc funds for rrpl‘u:emcm
of assets. ~

Methods : There are-scvgral hethods for
computing depreciation as giver. \

(1) Straight-linc method : Straight line
depreciation is the simplest method to apply and the
most Widely used. The annual dcprccmuon is constant.

The book value (BV) is the difference between the .«

purchase price 3nd the scrape value of the asset at the
end and annual depreciation charge. -

P-S '
DC(n)= T P- Pur':hqsg: priee

or, initial investment
S- Salvage value .

BV (n)_P—&—(P -5) N- No. of life yeers

n- depreciation calculating year.

T o®.. N

& RNy .
asT g/ irdepnclaﬂon% WhyHntudy of -
2 epredmbn‘ulgmm :{t? ‘Distiaguish

<
a(g,j between Geeliné balagie Ynethbd snd
!
|

Eumple i Small computer: purchased by Rs..
7000/ each and their life pcdod have § years. They -
have no salvige value, The company has a cost of capital
(rate of r\':tum) T%. Dc;cfm!ne
(1) Dcptechtion chnxge
(ii) Depreclatlou Teserves at the cnd of 3 ycars
(1if) Book value of the computers at the end of 3 yem
(iv) Find thc rate of depreciation.
Solutfon :
(i) Since thc annual deprccxanon chugc 15 constant.

P= S Rs.7000 0
5

1 (|i) Ths dcprécmtion reserve at the end of 3 years is
- ‘3 X Rs. ’1400/- = Rs 4200/-

ek,

DC (n)-_ Rs ‘1400/- per yeax

- Rs7000—-(Rs 7000-0)
=Rs. 7000 - 'Rs. 4,200 = R:i 2800/-
(iv) Ratc of dcrrccmtxon

- P,xmd - Rs1400 100 = 20%
P 0o

" (il) Declining balanca method : The declining
balance method is a micans of amortizing an asset at an
accelerated rateearly in its life, with corresponding
lower annual charges near the end of service.

_DCmy= Rav (n-1) ‘
=q BV

R~ Rate cf depreciation may, be determined by
the tax pgyer, If R>1, the st year's dcprccmt\,on charge
will be grcatcr tha:' thv' corresponding chasge.

1N
Rai-|2]
Bt ¥

S= Salvagc value, )
BV (n) = P(l =R)* ‘

Oy . D=K(-K!'P,
,Bjr(l- KYP
Kis rate of deprecxahon
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o e  a B T e -+ buhentfitfGoA ratio hy "bﬂ
= ST o rgtoantaat 105G cAupous ks Ps
svepdSlY - v SeEg . AngTnifial gst ofprojest & Rs.
3 © T Angual gast = Rs.3,0000 .
By income tax cods 195_4 S : “"'_Anpgfs.l?vl_qs_s.?,\,‘ '.860"000'
In double dectining balanced method. *” - - - “through iz gation = Rs..800,
20% - - Lifgperiod= 15 years. -
Dc;'.ecis:icn'm:cc T o el ! mr‘t-g ofintercﬂ-" 10%_(C.A’) .
Erample : 'P=Rs. 100000, § = 20000, N =5,/ * * 7 Tt T g,
Fiad ot (i) DC () & (i) A * By'EAW B/C ratio = l-—fé:
(&) Bock valuz 2t the sod of 3 years B Gk Sraadar 1 90l

{tii) Deprecisticn Ressrve for 3 years.
() Diminishing Balance Methed : - s
Under this method, depreciation is calculated at

T v Tasonnng
- BCroS o0

@ Cenialn percenrage each year oa thg balance of the B/C<l Ll _ '
asser whick is brought forwerd fromthe previols year. -H¢§cc It is not ]uqu_ﬂcd to implcmt.:r.ll thxe
{2) There is much uncerizinty or revenus in later . ~pr'6jcct. ; Shate :
Years ang : B . s St N
(®) Trereis alsoincrease inrepairs end miidtenance .. o . 800000 ——
costs coasequently decreasing efficiency and - 500QU0G(A/P10%15)+ 300000
revenucsineverys ing pericd. Itis usyally ot g ‘
adopted for plant and mashinary, ~ © - . 800000
Merits : * - 4300000
: 0CC000(0.1315) - 300000
@) Yt tends to give & feirly even charge of s v’v‘m'-/_-(. ) s
depreciation agazinst reveque gagh year, - + 800G02
Dci;.ci.uio:: i genecally heavy during the first = S~

few years andis countersbalanced by the repairs 657506 + 3U6C00 . ) L
beizg light azd in the later years-when repairs Q.6. Explin the Iaw of varigblp nroportions

are heavy this is counter - balanced by the \//. 56 aints nrodpeetion s =]
tecreasing chirge for doprocin In thie study of production jualysls w

(1) Fresh calculations of Uspreciztion-ere mot appropriate c’xamplw !‘1“"’9‘..‘3 the
pecessary 25 and when cdditions-are mads, - relevence of such ag snalysisin theé study
(34) This method s recogrised by the inobme tax of Exglncering geonomics énd' costing,
Lthontiss in India ! ot frr ) e o Gk \ b RS
¢ Deme;;;bfm“" n b g ' Aps. Preduction refers to t=chaizal relgtionship

) The criginal cost of thewesset is altagether Jost.  betWeen input and outpur, The luw of yariable ‘

sightin subsequent yeary and the aseet canpever  Proportion cequpies an ippartent plase,in the theory of . ;

a2 be reduced 1o 2070, b ) . peoduction. This luv exXpunines the preduction function -
u) This method does not 12k} izlo cdasideration the viith ¢ i i fnt

: . -Gl Lodiceral e AL 9ns feclor. vaniable, keeping othey § ’

, 2S3&t 23 20 ' vastmant £od Interest s not taken Byogs £ vansble, keeplng olhier factors fixed

into consideration, '; ; B
(m) As CO!‘.".pi.‘Bd 1o the St_:a,ight line M‘)d' _i( » Q= f(L,K) v (l)
Gifficelt to determine the seitable Tate of It is a short run production f* whers
ciation. . . . Q- Output "
Q5. The Central Government s planpingto © L - Labour ‘
g consfructdam withap Inftiai investment K~ Capital g A
“.of Rs." 50,00,0€0. The Estimatad life of . Short rup preduction is a technical rélationship

the dam Is ¥5§ years~ The anpual ~ between inpuf and outsat where capitel is fixed,

operation and maintensnce cost s Rs,  Heacelt Is expréssed as '

33,0,0,(:?0. The aonual savings In ' Q=fi) . (2)

rrigation cost due te construction of - Itindicates that output is changed by varyi

dam is Rz, 8,00,&091};73;7 year; Check  quantity of one fyctor ({abaur) onzl}y, kgeoﬁmogtgz

whether the mrojcet {s Justified on  foctors constant. Ths proponisn betvrecn veriehle factor
' g : end fixad faclor i3 chunged by employment mors and

Rt B i B 4

i
{

i s s e A
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4 factors output also chinges, It Is known ay. oy of
7. variable proportion, It T alsq referred to retugng fo.a

T T

T

TR Y —T
T =

D R = Sataes St

factor or Jaw of diminishing fetums. A Al
- According to I Benham “As the iropétifoH of
one facter in a combination of factors 1§ incregfsad; after

4 point, 1st the marginal and then the avérngt product

of that factor will diminish”. As cquabincrements of
one input.are added, the input of:other productive
services being held constant, beyond Bgc_r{nrri paintthe
resulting increments of product will decreage i.e.
marginal product will diminish. (G'.J. Stigler) o
Concepts of laws of prod* : ooty

There are 3 concepts of production are related such
as total product, aversge product and marginal product.

~ Total product is the tota physical output

corresponding to each set of inputs,

Average product is the ratio bf total product and
total no. of variable factors employed. :

Marginal product is the -addition to. the total
product by the employment of an additional factor input.
MP<TP -TP, L

The law of varjableé proportion is based on
following : )

i - .-Assumptions ;

(i) The state of technology i production should
.Temain same or constaat, :
. (L) There must be somne inputs kept constant,
(iii) It operates speciaily in short run production.

-+ (iv) Labouror varidble factors should be homogeneous,

The laws of procuction in terms of law of variable
Propoition is passed through 3 stages of production. It

is.explained by following table

Production tabilc | - . .,
Labour | Capital| 1/K TP | APMP,
-employed | (k)
50 1:50 | 104 | ‘1010 -
. | i
50 2:50 | 22i[R | 11 (12

| 50 3:50
a:50 | 52- 13 1 10
50 5350 (60| 12] 8
50 6:50

I
(MR 0

, 7:50-1

60~ iG] .0

’
e B = T T e N R N
W
[}

HARTRRPIRRRIGN SN AT

:- ‘ i _ T e R AT N A R : , > Epas S L) T s
%m xvarigble factars, "Withy change in proportion’of .= . Above table indicates that law pf yariable proporgy

* but APSMP: Wh

R AT

has3returns. e, |
15t Stage - Increasing rétirms ; g

‘I this stage TP tises at an increasing rate, Bdhy
AP & MP'Hsé.also jointly but MP is greater than AP
Corresponding to the point of inflexion MP falls fist

‘then thuy. meet cach other at end of 1st stage. In p&

table- wp to 3rd units of labour employed we gt

- increasing returns.
_ 2nd stage - Dimipishing returns :

‘The total product ma){ﬁmjn&é_ to ysi al ;
diminjshing rate where AP & both are declinis
' ; en MP reaches at zerb, fotal produt

becomes maximum and second stage comés to an enl.
Frotti 3rd.to 6thitunit of fabour employment period of
prodiction is knawn as diminishing retatmns,
3rd Stage - Negative réturns+ . o

- Under this stage TP declines, AP falls continuously
but never be zero. MP will be —ve. The upits_of labour
employed jndicates ~ve returns in production. -

)

. The law of variable proportion is.expiained by

the folloxyl_n‘ﬁ dié'gramm_c,. -

In the diagram, up to OL amount of labour
employed. It is called as increasing returns. Here tota]

product rises' at an'increasing rate til] the point of

Inflexion T and MP becomss maximum first then falls,
Atthe end of 1st stage they intersect each'other,

LL, period of employment in production i

ses ata difninishing

known as second stage where TP ri

‘tats tll pofat H. Here it becomies thiimiiin hnd 204

stagé entds, Th this stagt both AP'& Mi¥are decreasing,
Atler OL," uaits of labour employment, the
production is called as -ve returns because total produc;
deelines due to -ve marginial product,
It may be noted that Diminishing retums is the
rational stage of prod* for the producer. -

AL

Jp——
e T YT
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W S01012012 - 310131, i
Ymporiance of law.t _. ; ' gfertals Rs 15000 <~ Rs.204m |
o appled to lald cnly but oy RAVMEIEETL by 20,000 Rs. 1800
Rl e g ‘Work Ir progress " Rs.20 1
factors of production Wh‘gle‘u pply I8 fixed. It Is Finlshed goods Rs. 16,000 v rg:g
applicable in agncuhump.induum} and manufacturing. g materfal purchase o _mw -
Limliations t ' ! o charges ¢ . , ’
@ Law of varlable proportion can not be applied if _}::l’&‘;;‘(’m,rgu Ra.ﬁo,ﬂ‘g :
the stdte of technology will vary during the:  pe o Gvortiend  * B Rs. 36)3’” _
ROGYELION PIoORLA: Selling & Distribution overbead  Rs.24, %S
(i)  The assumptions which are tuken In law of oot galds Rs. 5,000
varfable proportion are unreallstic such s labours ¢ 1 g1y ,
:\mnhm(;mgcncous,;mrfcgtcompctltldn and capital Particulars o Amount
is fixed etc. Opening Stock ©
Q.7. Explain the term “Break-Even Analysls” ‘ ;u;-:., muf'éri;,] 15060
and discuss its usefulngsa, Calculute the (+) Raw Mautcrial 20000
break-even polnt*l’ror: ‘the following Purchase
data: ’ ~) Closing stock of
Sales 1 550 unlts ( ). ga?vx;nitcdals 20,000
Sules Recelpts 1 Rs. 28,875 Material consumed 195000
Total Fixed Costs ~ 1 R, 16,000 (+) Labour chzrges 120000
_ Total Varlable costs : Rs. 11,000 Prime cost 315000
Soli B e s (1) Fckry s 6000
Total fixed cost = R, 16000 O e 20,000
Total variable Cost - RQ;IIIOOO (=) Closing werk in s
Sclling price per unit = L Progeess i 62.000
Sales units ,
28875 : Work Cost
" 550 °© Rs. 52.50 . (+) Office Overhead 36000
e ’ 36000
Variable Cost Per.Unit Cost of Product . ZT300
- ___T_VS_. . 11000 = Rs. 20.00 - (+) Opening stock of finished goods 16000
Salesunits 550 e ‘ (-) Closing stock of finished goods . 20000
Break even Point (Units) = Cost of goods sold 205000
Fixed cost (+) Sglliz:g & Distributicn overbeads 24000
selling price per unit = V.C. Per Unit 'f_g: fi,:g —igg%
et 0000 o Towl Profit — 67000 |
s2.50-2000 = 23! |
: - 7 |
‘Break even point (Sales) = BEP x price ‘Profit per vnit = 510K Rs:6700.00 j
= 492.31 X 52,50 = 25%46.15 , 43‘3‘;30 |
Q.8. Prepare the statement of cost and profit ' it N e A ; |
per unit of 100 unltj; of product .o! Co-s! PRERIIES 100 Rs. 4320. |
Avilash Textiles Ltd tor the month of C > !
! January 2012, i . ' : .
b . ' ) i
‘ ~ . |
- ’ |

;
|
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8. Disfinguish bét,wccll NPY apd ‘]{(_l;l.j Glve,

njethod

method does not consider the market rate .
sintatstand seeks to determine;the maximum rate’
nds invested inany projectco?

i 7 is preferahle lo'lh_c Illn'mcuu,(l, » e Interest at which fu
Ans.: NPV is an imporfant g{iltcribu used be repald with the carnings generated by the projét
forproject evaluation. Net present V_tifi;i: is equal ,(iii)mtxlsica.sswnpdmofNW'nﬂ}ul is that interroeds
to the pw of Revonues o bencfits minus the present ' cash flows are reinvested where as in case of IR
value of operating cost'and initidl cost. intermediate cash flow is reinvested at the IRR. , ,
bl s BB = FYE) ~(iv) Incase of independent projects both methods tie
L but when size of cash flow 2

et MO ST

NPV =, R,' N R,.‘H_““+ R,: j
(1+i) (141) (1+1)"
C, G ‘¢, |
- — + — +ot—1 -
(1+1) (1+1) (141)
R, — The series of gro_rs [')rcscnt' rccgi.;ils or

benefits for ith periods.
C, — Cost series

O UR-CLRG L RmCe
Or, NPV=-C+ (1 +1) +_(1_ri)’ 455 (1+i)" similarly i, i, hence project

Where Cis the initial cost or 18t cost at zero period.
If NPV >0 = Aprojectwilibe socially
profitable & selected.
NPV <0 = Undegirable & project
NPV =0 => IRR (Indifferent decision)
IRR refers to the pefcentage rate of return at which
t value of benefits and present value of cost of a

{dentical decisions
of projects, & pattern of ¢
other, tey become contradictors th
.The NPV & IRR method both provides consistesce

ash flow differ eFh
' at given beleV:

esult of Acceptance and rejections.

JIn the diagram there dre NPV curves for proft
A & B.Hence NPV.curve. of A lies below B.

50 project B s \J
selegted by NPV method, “'V.N

B also selected by IRR
method.

But in practice,
somelime some consisiency, nev
results may not available due

to change in time, outlay,

presen : : ;
project is equal. It means NPV =Q. rcc;tplcr. e rfinklng ,M
Similarities : projects maybt‘:quxu: gpposie o T X, e
The NPV and IRR method are similac to each other “'“3 O‘ZC use of NPV & IRR ’
. method.,

hy following arguments.

(i), Both methods are modern technique of capital
budgeting. -

(ii). Both take acccunt the time value of money into
consideration.

(ili) Both are alko-ldiscoumcd cash flow ’tc:hniqucs.

(iv) Both the techniques assum independerce among the
cash flow generated by cash pruject under consideration.

" Differences :

(i) In NPV method, present value is determined by
discounting the future cash flow of a project at a
pre-determined or specified rate called cut off rate.
But under the IRR methdd cash {lows are
discounted at a suitable rate by hit and trial method.
Here discount rate is not pre determined.

(i) The NPV method gives importance of market rhte
of interestary cost of capital. On the other hand IRR

Here project B shows higher IRR than A (R,;;RA ]
but NPV of project B is less than A for lower raie of.

iriterest when (r<r)
If >0, then'two methods would consistent in

ranking the projects.

The NPV method is preferable for project

evaluation in the following situations.

. (i) Ifinvestors have storage of fund for investment .
(ii) If projects are mutually exclusive. ’
(iti) If projects differ in capital expenditure.

(iv) If there are -ve cash flow in the middle of life :

span of a project.
IRR method is preferable when
(i) the cost of capital is uncertain.
(i) Evaluating risky projects.

(iii) It is most comparable.
_ ®

Scanned by C.Za{'rﬁScanner



“,
}
i
E
{r;
!I

T

: -~

¥R edps customers in n.m\mrlmz funéi\. from one
exchames e

P trantivets & pays various eredit uutrumcm: like

Shepues, hilis of excharige Ge.

The baak muy emplay 'mcl)mc tax experts to
prepare meome @ retuns for the customers.
Seme bank may also provide passports ete. to

Rialies X

r IRy pay i:‘.mr?nc:. rents through

JoOReA !

Generul utility function : |
The bunk ey fravelier chieques W cuslomers
e prevem loss of money dul"il"’ travel.

[,.‘ s preeide Tocker facilitjes to its custumers.
Banky tssues feiters of credit to their customers
~ombyiog thew credit worthiness.

Hanks-pr s on :mpomnl mfox mation
arfatimye Lo indu sy, rade ete
Peais warh foreian currencies.

v Some Baaks psswe @ift cheques of various

~

therr guste
=
LG asienTie

nide al'J‘

deraminations for quspicious occusions.
be Comumereral bunk plays an important role in

= zuomemy of o developing cogntry. Commercial bank

wicdune o g countey's egunomy in the following
Eip b tine s rrigink Evprreortons Iow sicmennd :
vencips m capital formation by aceepting deposits

Lo cenenmic development )
cocvnrnzes entrepreneufial pnovgtions by
ans (0 eatrer ‘.-"1.6\11 3

oty rude ard indastry @ developing
!

” g

ST T2

y policy for maiatainimg

L place of gronamic activities

rate of interest and availability of
Hole o Commercial kaak in developing economy
econnmy hanks ars to be
ey as dealers in money but
. Cofamercial
tse mafluzaee the direction in which
wsauroes fa be wiiiised. Commercial banks can
Zure s 2 country'y ecunomic development in

e de ,_’ ]p mer

o greuitds.

Cunnnercigl banks promore capital formation

by generuting and mobilisjng Saving for

vevnomic development.

40 It 2acoerages entrepreneure invariance by
pruviding louns to the enir cpr’n-ur:.

< -I‘
Wil

pluce 1 another through’ cheques. bllls of
I

.

A i e o

discounted to time zero by assuming u specific rate

- on?.

PR e e
(i) It influences the pace of economic acuvmee ;
" through rite of interest ufid uvmlubnlut)"of 3
Credit. - ) :
(iv) Tt lmplcmcnls monemry polu.y for maintaining

cconomic stability.
(v) It promozcs trade nnd industry in develaping

LLOﬂ
ss the present worth method of’
Iuating engineering alterndtives. Give
thc situations where present worth method
is preferred to IRR method.

Ans. In all engineering problems engineers
encounter one i.e slection of projects. To select the
best alternatives various methads have been evolved.
Present worth comparision method is one of
important method of compurision, In this method of
comparision the present worth of all cash inflow
(revenue). is compared against the presgnt worth of
all cash out flows associated with an investment
project. Under this method all cush flows are

of interesc.s
The present worth method is based on following
assumptions '
(1) The cash flow should be known
(2) Purchasing power of money is assumed to be
" constant.
The interest rate should be known.
Comparision should be made before tax.
Comparision should not include intangible
considération.
It there i3 u single project, lhen decision whether a
project will be seiected or rejected can be made accordingly.

IF NPW>0 the proposal will'be selected. [t meuns
th present value of receipts is greater thar: present value
ol disbursement. So the difference between PW ot
revenue & PW of cost is called as net present worth.

If NPW >0 = Project will be selected

\PW 0 = Project will be indifferentin

' dicision

NPW < 0 = Project will be rejected.

In case there are mutual exclusive altérnatives,
then the present worth cash flaw can be calculaled by
two prominent methdds.

. (h Revenue dominated cash flow
(2) Costdominated cash flow.

3
(#)
(3)

Srirr e g

~ v N

.
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fevenue, salvuge value,
4nd nitial cost, operatin
=ve in nature. ‘

indicates coslg or o

the alternative with the maximum prdfit,
PWA>PWJI

Cash ﬂow‘ifPW(A) < PW(B) = A will be
Reyenue«domlnated
Cash flow

Filaiial ega

flow the formuly given below.

Vs salvage value, R
he formula'js PW(i)

S v v Mm‘.s—.wn-“_...-._as..--

* +ureuuc aominated cash flow the profit,
will be assigned us +ve sign
8 and maintenance charge are

On the other hand cost dominated cash flow.
utflows are +ve & profit, revenue

and salvage value yre —ve sign. |

. ! T -
In revenue dominated, the decigion 1s to select

It means if,
dominated
selected

Cajst domlnated
" Cash flow

= A will be selected. For post

(Revenue damlnaled) '

To find present worth of the oush flow we can

PW(i) ; -

L+L.+.'....+L'_+-“S——

=8+ (1+1) (1+i)’ (1+1)7 (1)
Or, PW(i) =

“P+R(P/Fi, 1)+ R(PIF|2) s .
* R(P/FiN) + S(PIF, i, N)

Ifitis 4n.equal*payment series 1

PW (i)y=-p+ R(P/IA i, N) + S(P/F i, N)
For cost dominated cash flow P s the initial cost,
.~ Revenue, Cis cost series. So

C C "

. 8
=P+ —y= . L G

(1+1) (1+i) (1+i) m

Or, PW(i)'= P + C,(PIF i,1) % C (P/F i2)+...4C,
(P/Fi.N) - S(P/F i.N) <

In case of uniform series
PW(i) = P+C(P/A i.N) - S(PIF i,N)

-~ technologles glvem' .

-

Example : The Bajaj co; Itd, Is "’.".-!l'."l-"z o
expand Its production operdtion by uslug two

n ' Annual | Life
i g‘;gf l" x;erurns -| Perlod
A | 12,00,000( 4,00,000 [0
B 18,00,000 | 5,00,000 .} 10

| sted 2 ate of injerest.
which should be ndoptcd 2t 20% rete of ind

Solution : o .
Technology A prevides following datz.
P = Rs. 12,00,000
A =Rs. 4,00,000
i=20 )

N=10

The cash flow diagrain is given below without

salvage value,

4,00,000 *

r/\_)"\__

------

10

v,
12,0000 ©
PWA(ZO%) =-P+ A(P/A i.N)

=-12,00.000 + ¢,00,000 (P/A20% 10)
=-12,00,0C0 +4,00.000 (4.1925)
=-12,00,000 & 167,000
=4.77,000

In technology-B ihe cash flow diagram is

500,000

]

T

P
* 18,00,000
PW,(20%) = -18.00.000 + 5,00,000 (P/A 20% 10)
==13.00,000 + 5,00,000(4.1925) ¥
=-18,00,000 + 20,9620
=Rs.2,96,250

e S

S

of perc

AR PP S VP P

Ry e

B,

“r

P— 3 } -
ATl ey, Ly

> ¥y ?
LY LA A A

e

/
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producuon '

(.alculntlons llls U(Uu")ﬁ xprcss'edm(crms A ,sll }pﬁlgost foyhnngcmfzurpgbp;ogyccd

of percentages by |

: Co't‘b ion ..
PIV ratio = ~oribution. . 1a9
Sales

" x 100

_ Change in contribution
Change.in sales

For multiple project or firms and

Change in Profit

P/V ritio =
~ Change in sales
Pl’Oﬁt
N A S
or P/V ratio Margin of Safety

(¢) Marginal cost.

“Itis ar:important derived element of the total

cost. It may be defined ug the extra cost or
expenditure incured by a firm in producing an
additiona’ unitof outpit. It shows the movement of
total cost curve. Itis estimatcd by

MC=TC, - TC,__,.

In short run production function we can get

JUREISV ou PSS \, \V

cr words mnrgma?cm: lﬁc Tafioof chuny

i " ‘dc - o .{
MC g‘ o:_,M.%—

,-

'It is also known as slope of the total cos! |
. function. The shape of the marginal costeurveis . ‘
‘U' shaped due to the operation of increasing retum
and dlmmlshmg returnin producnon process.

i MC

G

Importance: -

1. It kelps to find supply function of the
industry in perfect competition.

2. It helps in firms equilibrium identification,
i.e. MR=MC.

3. It calculates Total Cost. of the firm.

4, Itdetermines stages of production.

5. It helps to locate the Break-even point ulso.

® {

o ¥ o AR B L A R 2T e g
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Here P\V,M>PWW .tim’ugh it is' revenue
cominatek project Al se!mcd
(i) Presen t worth gives the value maximising
decisionwhen projea\ are mcd 10 choice of capital,
rationing system . - _

(i) lteante used in which'the signof the cash

flows are changzed more then once in the prgject

period.

%{. ta) Principale of Economic Equivalence
Ans.: Ecorsomic equivalence means the cash

flows have same value in different time periods. It

produces same efffectin present 4nd future sitvations.

There are four pri neiples of eq '

(m ks useful in mutual exclusive pioject
(v) Ithelp s to compute {RR.

ui\alencc_

(1 Equivalence between vesh Nows

Now Rs. JOO0- will becowe Rs. 1100/ at
the end of on yea ratlo% rate of interest. It means

P =Rs H,‘J(n'l-‘— 0% N =1

N
. W
i = ‘Il\-‘}__...--'“—&

\(\Q“ -—"_‘——'- -

F=P(1+:® :

= 1100 = 1000(140.01) .

Similariy P= F(l+)™

= 1000= 1 100(1+0.01)"

I imeans Rs. 1000/~ now equivalent with
Rs. 1100 atrer one Syear.

(2) Equivalanese

*
atan

ycommon gtc:n:

‘Some times oy cartain SquIva
flows we getata cormman peintata gpe '!": rateof
interestbat in differe 3o time peaod by compouadiag
ordiscounting the cash flows,

|
{
§

- (Ao

Rs. 3000

YA
6030.4.

K N

N

l&
Fae Pt

B

= 7930
InSyearsthe
¢ estimate present vworth trom Ra.

Ifwe

yaaritwill he P« Ry, 00308

Ttmeaas 30000140 ¥\ L 080 40 TS

(3) Equisalence by rateof Joten

This paeviple viates Lt any ehze i rate of
Intesest Wil Sastioy the equivaloacs Dotwees twd
cash Nows in @ l?c.\ WP,

() Eourvalen oo Beiviaen Receints ane
pavmeals

la equivaleace niiaci;te & is Jnred W
Cu SQulatd wakaew &t ‘\C\“.\'\‘. MW {LRA tale X

malatain cou

iﬁlé% }
1234 8§ 3
* = Rs, 3000

= 7 Years
1 5%

= 3000 (14001 9)°

value will be F= 60304
W0 forl

e

) [ Y - N Baa
valdace Quineen NS4}

M BV Ratie
Awna The BV ratia show . i tatioashy
SRR the contibution aad valug of calen. It i
20 known as centnbutivs wats ratio e vesthe

g At ay
l -n}svl ‘, L‘n-xl

TS | 3 P AN
.\‘\-‘L\\ . Wy WYL \‘\\QKJ"\‘!‘\\‘\I“:

CRstedies ahout the }uu\\\b'\l\.u\“: ™,

Z':.s OWS the fimanciol pasitian or sire holthe
compaay. High P/V satio imdcates (\ degreeof
srofitability of the finn and ¢
Importance 11 bt
Lver poing, saleg
() freatontates vatvme of U aratit from sates.’ F
S ERLyo0 esimae desiecd Jeva) of protit
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